MCR 3UI

Extra Practice: Function Notation

Given: f(x)=Jx+1

i)

iii)

Write the image equation for the transformation: y = f(x—2)+4

y=yJx-2)+1+4

y=\/H+4

State the domain and range of each function.

flx)=vx+1 D={xeR|x=-1) R={yeR|y=>0}
y=x-1+4 D={xeR|x21} R={yecR|y=>4)

Graph both J‘unctions on the same grid.
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Given: A(x)=Jx -1

i)

iii)

Write the image equation for the transformation: y = f(x—3)+2

y=yx-3)-1+2

y=+Jx-3+1
State the domain and range of each function.
flx)=x -1 D={xeR| x>0} R={yeR|y>-1)
y=Jx-3+1 D={xeR|x23} R={yeR|y>1}
Graph both functions on the same grid.
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1
x+1

c) Given: £(x)=

i) Write the image equation for the transformation: y = f(x+1)
1
Y= x+D+1
1
x+2
ii) State the domain and range of each function.
1
f(X)=X+1 D={xeR|x=-1} R={yeR|y=0}
y= ! D={xeR|x=-2} R={yeR|y=+#0}
x+2

Graph both functions on the same grid.
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d) Given: f(x)=l+2
X
i) Write the image equation for the transformation: y = f(x—3)+4
= +2+4
T3
= +6
7 x-3
ii) State the domain and range of each function.
f(x)=l+2 D={xeR|x+#0} R={yeR|y+2}
X
y= 3+6 D={xeR|x#3} R={yeR|y=+6}
Y
Graph both functions on the same grid.
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